Respostas

1. a3r4+3<z+6 <= 20<3 < <3

{zeRlz < 3}

b.2-3>3z+4+1 < —-2r>4 << 22< -4 <= <2
{z e Rlz < -2}

¢ 2r—1>bz+3 < 3124 < 3r< -4 = < -3
{z eRlz < -3

d z4+3<6r—-2 << b <-5 < dSr>5 << z>1
{z e Rlz > 1}

e 1-32>0 < -31>-1 < <l < 2<%
{zeRlz< 1}

f.2r+1>3r <— —o>-1<«<—= z2<1

{z e Rlz <1}

2. a dr-3<6r+2 <= —20<5 < 2r>-5 < z>-3
{r €eRM4z —3 < 6z +2} =] — 3,400
b. |z <1 <<= —-1<z<1
{z eRl|z| < 1} =] = 1,1]
C2r—3 <1 &= —1<20-3<1 & —1+3<2w <143 «= 2<20 <4
1< <2
{r eR||2z - 3| <1} =[1,2]
d32+1<% < Jr+3<z < 8o < -3 < z<—3
{reRPBr+1< 2} =]—o0, -2
3. a (z—a)(w+a)=22+ar—ax—a?®=2?—d?
b. (z —a)(z? + ax + a®) = 2> + a2® + a*r — ax® — a*r —a® = 23 — a3
c (z—a)(@®+az?+a’x+ad) = 2* +azd + a?2? + adzr — a2 — a?12 — Pz —a* = 2* — a*
d. (z—a)(z* +az® +a%2? + a3z + a*) = 25 + az* + a?23 + a®2? + atw,xt — a?ad — a32? —

CL4ZB—CL5:ZB5—CL5

—z2422)—(—1+2 —z2422)—1 —(z—1)2
4. a. ( 1)71( ) 171) _ (171)

b. Vamos primeiro calcular f(z + h): f(z+h) = —(z +Rh)? +2(x + h) = —2? — 20h — h% +
2z +2h

=« fla+h)—f(z) _ —a®—2ch—h’42c+4+2h—(—a®+22) _ _2gh—h242h
Entéo: ’ = m = m =—-2x—h+2,h#0.
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fle+h)=2(@+h)+1=22+2h+1

fet+h)—f(z) _ 2242h4+1-(22+1) _ 2h _ 2
h - h ~ h

. flx+h)=3(x+h)—8=3x+3h—38

flzt+h)—f(z) _ 3z+3h—8-(32—-8) _ 3h _ 3
h - h — h

fle+h)==2@+h)+4=—-22x—-2h+4

fleth)—f(@) _ —22—2htd—(-2e44) _ _2h _ _o
h 2 h

. f(x+h)=(z+h)?=2%+2hx + h?

feth)=f@) _ s’t2hoth?=a® _ 2hoth? _ 9y 4

. fz+h)=(x+h)?=2(x+h)=2%+2hx+ h? -2z —2h

flz+h)—f(z) _ z?42hx+h?>—2z—2h—(22—2z) _ 2he4+h%>—2h _
W = A = = =2x+h—-2

. f(:L'—i-h):zJ%h

z—(x+h) —h
fleth)—f(=) _ TE-% _ =ik _ Pgeh _ __—h __ _ __—h__ _ _ -1 _ _ -1
h - h - h - h " h(z24+xzh) T hz2+4+h?2z ~ z2+hx ~ z(z+h)
— 1
- flz+h) = @rh)+2
(z+2)— (z+h+2) —h
ft+h)—f(z) _ e _ i) ety _ GrhiEin _h _ 1
h h h(z+h+2)(z+2) (x+h+2)(z+2)

Az eRlz #1}
Az eRlz#1 e z#-1}

. R

Az e Rlz # -2}
Az eRlz > -2}

Az eRjz#0 e z# -1}

Az eRz< -1 e z>1}

h(z)=3x+2)+1=3z+7
. h(z) =V2+2?

h(flf) _ z243)+1 _ 12i4
. T (2243)-2 T 241

h(x)=—(22-3)2+3(22—-3)+1=—(422— 122+ 9) + (62 —9)+ 1 = —42? + 18z — 17

__ 2 _ 2
- h(@) = e = e
G e e el P C R = B
- h(z) = (-1~ =@~ =5 T GHeh 2z + 1), parax # —1
(Zely g 2z 414 (z—1) e
- h(z) = (Bin s, = oG — oz, = /paraz #1
o= z—1 z—

. Z?:l(l’i _53)2 = Z?ﬂ(m?_Ql’ifiJﬁiz) = Z?:l 51312 _Z?:1(2mifi)+2?:1 = Z?:l 51322 -

20y w4 nzt =) xf— (2anT)+nx® =) 1 2l —2nz? +nz? =Y " | 27 —na?
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by Sy = e[S - 2w + 2 = (e - 2w T e+ L, 2 =

i= =

L a2 - 2nE + na?) = (S0 22 — 22 4 nz?] = [0, 27 — na?]

noa? " " )2
1 [Zi:lmz_n%} L[y 1:[2_(2,711 )}

n—1 K = n-1 i=1"1
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